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QUESTION 1

You have included in your data center design an SRX1500 chassis cluster. The RFP requires a documented upgrade
process for the cluster that minimizes downtime. What satisfies this requirement in this scenario?

A. an in-service software upgrade

B. a topology-independent in-service software upgrade
C. a manual device upgrade

D. a nonstop software upgrade

Correct Answer: A

QUESTION 2

A large multinational corporation wants to implement SDN for rapid deployment of application
environments.

You are asked to define SDN service chaining for a presentation to execute management.

In this scenario, which statement would satisfy the requirement?

A. Integrated software is used to insert a software widget into the flow of network traffic.

B. Stacked hardware is used to insert a software widget into the flow of network traffic.

C. Software is used to virtually insert services into the flow of network traffic.

D. Hardware is used to virtually insert services into the flow of network traffic.

Correct Answer: C

QUESTION 3

A customer has selected QFX5110 switches. The initial installation will contain two switches located in
racks about two meters apart.

What is the most cost-effective way to interconnect these switches?

A. Use SMF between the racks and interconnect the switches with LX4 transceivers.

B. Use a Virtual Chassis cable between the VCP cards.

C. Use MMF between the racks and interconnect the switches with SR4 transceivers.

D. Use a three-meter passive DAC cable between the racks and interconnect the switches with it.
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Correct Answer: D

QUESTION 4
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You are designing an IP fabric using EVPN with VXLAN and must ensure that all links between the leaf and spine nodes
are used as efficiently as possible. Which two design considerations are important to achieve this task? (Choose two.)

A. Load balancing is automatic in an IP fabric design.

B. Load balancing must be managed by an SDN controller in an IP fabric design.
C. The overlay network needs to support load balancing.

D. The underlay network needs to support load balancing.

Correct Answer: AD

QUESTION 5

Which two security components are inherent in a Contrail vRouter? (Choose two.)
A. basic tenant separation directional control for Layer 3 and Layer 4 traffic

B. Layer 7 traffic filters

C. security groups

D. encapsulation around each VM residing on the compute node

Correct Answer: BC
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